e et Fo1 v IS
ARS8 A A1 ARTFT-2020%

i 8 e
1oy T i 8

S | SR A TR (S R 8 AT ([T F6F efAfers)

21 English For Today, Class-1 (NCTB)
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Subject : English

Book Name: (i) English For Today, Class-1 (NCT8)

O Marks Distribution (1% & 2™ CT)
1. Word meaning (5 ) (5x2) 10
2. Make sentence (5 ) (5x2) 10
3. Word making/Spelling the number in words (5x2) 10
4. Rhyme (1x 10) 10
5. Fillin the gaps. (5x2) 10
Total 50
0 Marks Distribution (Half Yearly & Annual)

01. Word Meaning (English to Bengali) 5 10
02. Word Meaning 57 (Bengali to English) 10
03. Make Sentence (5%) 5x3=15
04. Re-arrange (Letter/word) (5 ) 5x3=15
05. Rhyme (1) 10
06. Name of 7 days/12 months/6 seasons/ 5 flowers 10
07. Spelling the number in words 5x2=10
08. Translatiton (English to Bengali) 5x2=10
09. Fill in the gaps (5 ) 5x2=10
Total = 100
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Name of Examination Heading of the lesson
1. Word meaning (English for today Page :
2. Make Sentence (@i 3 of5)
1" Class Test 3. Word making (A-2) »¥ (35 =t Word )
4. Spelling the number in words (1-20)
5. Rhyme - (i) Two Little Black Birds (ii) Two Little Hands
6. Fillin the gaps

-26)

1. Word meaning (English For Today) Page no :(27-52)
2. Make sentance (a1 :11-20 *9)
3. Rhyme:-(i) Counting Cats, (i) One two three four five
4 Re-arrange
Half Yearly Examination 5. Name of Seven Days and 6 seasons.
6. Translation (Eng to Barg)
7. Spelling the number in words (21-50)
8 Translation (Engiigh to Bangla)
9. Fillin the gaps

1. Word ish For Today) Page: (53-73)
2. 2130 7%)

ot
2" Class Test 3. Rhyme:- (i) One two three four five (i) The song

4_Spelling the number in words (51-70)

5. Fillin the gaps

1.Word meaning (English For T cdaw Page (74-98)

2. Make sentence (Fierier a1

3. Rhyme: (1) Animal Sounds (n] Fam\lv

4. Re-arrange

Annual 5. Name of 12 months and 5 flowers name

6. Translaiton (English to Bengali)

7. Spelling the number in words (71-100)

8_Translation (English to Bengali]

9. Fillin the gaps

Make Sentence (2TS5% 4% Sof6 %7 word fits Make sentance Ft3)

1.Good 11, Count 1. Sky 31. House
2. Who 12. Brown ‘Water . Table
3. Listen 13. Door Close . Animal
4.Look . Read . Open . Colour
. Student . Do . Show . Cow
eacher 6.Pen . Book 6. Where
ow 7. Name . Come 7. Live
ay 8. Trace 8 Friend
. Write 9. See _Song. 9. Help
0. Picture 0. What . Class 40. Work
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